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MIDWAY ADMUSEMENT RIDES
https://www.youtube.com/watch?v=GypVQrxudOc
 https://www.youtube.com/watch?v=W4_9FeYiHTY
https://www.youtube.com/watch?v=U_dDSfa0FcA
Bumper-car Floor Plans 
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R4 Comment

o Show me a design made of 3 m?. How many
© Now make a bumper-car floor plan from two meters of railing does it need?

tiles. ® Some of you have arranged your tiles this way.

Make sure the class understands that the tiles (Show the following arrangement.)
of bumper-car floor plans must fit together edge
to edge.

® And some of you have arranged your tiles this
way.

allowed not allowed

Suggested Questions

© How many meters of railing would this floor
need? (6)
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Each 
is equal to 1 square meter or ______The floor tiles represent______

There is a railing around the ______________of the bumber-car design.   The 

perimeter is the ____________________________________________________.

1 square meter 
       would have ______ meters of railing, or __________.
Draw/make a  bumper-car model from two tiles.   How many meters of railing would it take?___________










Must fit edge to edge.




Draw/make a bumper-car model from three tiles.  How many meters of railing would it take?

	NUMBER OF TILES = ______ 
	Number of Rails = _________

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	


Show me a design with 4 m2 of flooring.    How many meters of railing does it need?___________
Are there other ways to design 4 m2 of flooring to get a different number of rail sections?

